Quadratic Matching Game Solution August 29, 2014

SetA  factors

Y= Yy (x+ 2)(xtd) Y=(x+D)(3—x)
Y=(—2)6-%) y=(x—4)(x+2) y=(x—4)(x—6)

SetB  Stamdanol fotu, of equahion
y=—x2+2x+3 j}=x2+6x+8 jz=x2—6x+9
y=x2-10x+24| y=x2—2x-8 | y=—x2+8x—12
SetC Complete Squace/ Jecten fogi
y=(x-52-1 |y=—(x—42+4 |y=(x-12-9
y=—(—12+4 |y=(x+32-1 |y=(x—3)2
Set D Y_intercept
x=0,y=9 x=0,y=8 x=0,y=—8
x=0,y=—12 | x=0,y=3 x¥=0,y=24
SetE Pooks /Solutions
y=0, y=0> y=03
» X=—lor3 w X=—2o0r+4 |, x=2o0rb
y=0, y=0, y=0,
6 X=40r6 s, X=3 w X=—2or-4
Set F

Vewrts x

31.
local maximum
at (1,4)

32.
local minimum
at (5,-1)

34,
local minimum
at (-3,-1)

35.
local maximum

at (4,4)

33.
local minimum
at (1,-9)

36.
local minimum
at (3,0)

Set G
M

A

[
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Expand to change to standard form

Y=-D-3)  y=(+Dd@rd)  y=(+DE-)
(J;,,x,”,-(,x, £9 4= X+ b +0x4§ r.?.x—-x“-l—z—-x,
Yzx¥t bx + 8 7-=::r—”+.7-x—+3
y=x2—6x+9 y=x2+6x+8 y=—x2+2x+3
Y260 y=(—4)x+2) y=(x—4)(x—6)
Uefr - ™12+ 2o 4 x1 2w~ g 4 - I —bx-Gr +24
7»='9c7'+é94—m, gt 2 -9 ;sgc,“»lox.‘l-,’lq

10.

y=x2—10x+24

12.

y=—x2+8x—12 y=x2—-2x—8




Quadratic Matching Game Solution August 29, 2014

Change to complete square form

7y=—x2+2x+3 —,[X A 3]
X - [ x*-2% +1-1-3 ]
1L —
l —%]
K| X —|L(><-—\)z-"“f]
—| |-¥
t — (x— \ )1 +4 y=—(x—4)2+4
8'y=x2+6x+8 X%+ (x +9
X 3 X2+Lx+5-7 +%
XX 3x 2 0
7 |9 (x+3) -1 y=(x+3)2—1
y=x2—6x+9 X bw +9
X ) < 1;;: x_3 2
x’xT 3% (_)( ’37 “
D%
y=x2-2x-8 X —1x —8
o X- 2X +1 -1-9

x| 7% (x - \)7' -1 1;=(x—1)2—9
—( [«¢ +1

1;=—x2+8x—12 — [x“ —Ex +! 2]
— [(X—-‘f\i - Honj
_ [ (x*‘*y "1‘:{

——(x—1)2
——l (x-—‘-ly'+‘-} y=—(x-1)2+4

y=x2—10x+24

(x - 5)7"25’ + 14
(X-5)"-1 y=(-5P-1
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1. 2. 3.
y=(x-3)(x-3) y=(x+2)(x+4) y=(x+1)(3—x)
y=0, y=0, y=0,

» X=3 w X=—2or-4 - x=—lor3
y=12—6x+9 y=x2+6x+8 y=—x2+2x+3
x=0,y=9 x=0,y=8 x=0,y=3 \
y=(x-3)2 y=(x+3)2-1 y=—(x—12+4
1" local minimum 34‘ local minimum - - local maximum

at (3,0) at (-3,-1)

i at (1,4) |
! \ T

N

y=(x—2)(6—x) y=(x—4)(x+2) y=(x—4)(x—6)
y:09 y=0’ y:()s
., x=2o0r6 . X=—2or+4 . X=4or6
1)lz=—x2+8x—12 y=x2—2x—8 1;2=x2—10x+24
§=o,y=_12 x=0,y=-8 |2;¢=(),y=24
y=—(x—4)2+4 y=(x-1)2-9 y=(x=52-1
| 3s. i 133. B 32,
local maximum local minimum local minimum
at (4,4) at (1,-9) at (5.-1)

Ao T |
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